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QUESTION 1

Which protocol is used to exchange control information between the participating multichassis LAG (MCLAG) peers? 

A. BGP 

B. OSPF 

C. ICCP 

D. VCCP 

Correct Answer: C 

 

QUESTION 2

You are designing a QoS scheme for your data center. You must ensure lossless Ethernet. What are three protocols
that would be used in this scenario? (Choose three.) 

A. TRILL 

B. SPB 

C. ETS 

D. DCBx 

E. PFC 

Correct Answer: CDE 

 

QUESTION 3

You are asked by the data center architecture team to evaluate redundancy and management options for server racks
that have two or more switches to reduce the management footprint while maintaining redundancy. 

Which technology fulfills both requirements? 

A. Virtual Chassis 

B. ESI 

C. Virtual Router Redundancy Protocol 

D. MC-LAG 

Correct Answer: A 

 

QUESTION 4
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Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN
controller. As part of this solution, you must implement distributed firewall capabilities. 

In this scenario, which Contrail component implements this function? 

A. vRouter 

B. vSwitch 

C. compute node 

D. installer 

Correct Answer: A 

 

QUESTION 5

You are asked to create an underlay network that will scale from a small system to a large system and can be integrated
into a Contrail solution. 

In this scenario, which protocol satisfies these requirements? 

A. MPLS 

B. EVPN 

C. VXLAN 

D. BGP 

Correct Answer: D 
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